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(c) Use convolution theorem solve: | 7
70| 1 [ T i ' : =
| y(r)=t+ fr(e)sinl Tt
(d) Use transform method to solve
ff_ - t_il'_ + X = EI:
328351(14) ar
dx »
y N Ei\fenthalx=2,g—:"l att = 0. T
. B.E.(Third Semester) EXAMINATION, 3 '
_ : ; i 2
é April-May, 2015 g (a) State Cauchy Reimann Equation.
e : . : i ith constant
Z (New Course) Z () If f(z) is an analytic function W5
# -
E (Branch : Et & T) E modulus, show that f (z) is constant. 7
= MATHEMATICS-11I zZ (c) Apply calculus of residue, to prove that: 7
o = '
h 1 ’ ] g+ E F ‘.I'I___Cj'ﬂ___ = —E
8 Time : Three Hours ] [ Maximum Marks : 80 e L [7-8cosB IS
= [Minimum Pass Marks : 28 = ; 7
(d ind t's expansion
Note : Part (a) is compulsory. Attempt any fwo parts from g ERAEa .
- g EI
(b), (c) and (d) of each guestion. f(z) = T
] :
I. (@ HL 1)) = —, find 2t);.
(a) (f( )) 3(32 ¥ ]) {f( )} 2 about z =1 and - deduce that
fr P 3
(b) Find the Laplace transform of the following S = Fmie
function : 7 -
_ - (a) Write about Karl Pearson’s coefficient of
® ()= te* sin 3t correlation 2
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ages of husband ﬁgmf}‘{c of 53 minrfait Lot

o 4

living together on the C“En..{i-ﬁ_ il 1981
Calculate the ce—cﬁar.«.’:ni ar *ﬂr..w_,, s man

the age of the husband and that o7 the i 7 7

Age of Age of wife Tt

husband | 1555 |25-35| 35-45 | 4555 [s5en L L
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n=4d

i i__ [ | s_- " 1
z 1525 | 1 [ 1| - : Ik g - = !
3 | 3 0 |
e 2535 | 2 [ 12| 1 » o= b oe | 0E e : )
z 3545 | - |4l 0| 1} - ; = § -
: e 2 + :
- 4555 | - | - | 3 G pol o= | g8 - o ar e .
E. 55-65 - - - 2 &4 7 i ,-E; cW ) R 6™ s assumed to be the
H - g ‘ i f wieell
g 65-75 ] - _ _ £ | o . i g solution of difterential cquation :
E ; posen  [Henpos "1 E F-' -.' .'- &5 :-'L i ‘ l : P
Yol | 3 [az] @ | 9 |6 | #n | s i ¥ =3(1+a2) y = g,
it sl o)
{c) If9 isthe anple between the tero voemeyern (ineg Hien deformine e value-of
. L . 7
show that : 7 W bR e serfes solutic "
1 2 o, wijiadion - of ‘h”'l'l‘C’Illi,'[]
o = I & .
tan & = e ! ! ’
r 2 oo e [ ayuTy o dy
| ' Gl | IR Al T
Explain the signilicance wiven r— C ot o 01, o w oy
() Bl that :
(d) Calculate the rank corralation e ; 7
given ahead data showing ranhe 0 0 o7 ir in . ,( - R B T K
Y e Tl & Sl
two subjecls : : A X
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() Prowe .o

() 4 ‘.f_!_.u_l I)
R I et A € )
L8 | L]

e aF | arrf o0
Where <, ae 23501 %) denotes first and second

order Ceviviaive of 58 (.x} with respect to x

respeetively, 7

(2} From paci. diilecaial tquation by climinating

trbitvary cuand 7 o= (x4 a)(y+ a). 2

\ - R, T VT X
(b} Find the cuiice swislying 1 = 6x3y, where

P
gz = .
= oy SwEgkiag wwo lnes y

ay" 0,z =0 and

Y sz 7
(e) Solve partis! ifeoesitial equation :

D=P -} D -9}z = 2=
A "")"' €

Y +xy 7

|(d} Using mcdid of separation of variable, solve
| parlial diricoundia] cquation :

= L Reawra s,
n
g,

s

o

where w (2, 0) =
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